
PRODUCT INFORMATION

www.gyroplastics.comPh: 06 323 2237	 E: sales@gyroplastics.com

CAB60

PRODUCT SKU’S

MAXIMUM FUSE CAPACITY

FEATURES

4 x 400A 3ph DIN and 2x 160A 3ph DIN

5 x 250A 3ph DIN and 1x 160A 3ph DIN

6 x 160A 3ph DIN (Verticals)

•	 Double skin door and cabinet for greater strength

•	 Reversible door hinge for location convenience

•	 Long throw latch for better security

•	 Removable cabinet lid for easy maintenance

•	 Pre-installed PVC panel for mounting disconnects

•	 Fitted with a 13-way neutral bar for convenience

•	 Lock isolated from electrical circuit for safety

•	 Air ventilation to help air flow

•	 Impact and graffiti resistant to reduce maintenance

•	 UV and heat resistant to increase asset life

•	 Extremely light weight for easy lift and installation

•	 Plastic lid and base recyclable with GYRO-cycled program

Optional Features
•	 Locking cylinder can be changed to network requirements

•	 Fuse carriers/disconnects fitted to your network requirements

•	 Removable front base panel for easy installation access

The CAB60 is a well-constructed, 6 way cabinet, capable of housing a variety of LV electrical equipment. 
Using our latest designs we have created a truly functional and street tough enclosure. The plastic construction 
not only delivers a cabinet that is easy to lift and install but it also handles the UV and weather, to provide a long-
lasting asset. The long throw lockable latch ensures the door stays closed when it’s meant too.

SKU PRODUCT DESCRIPTION

204055 CAB60 ASSEMBLY WITH PVC PANEL & 
13-WAY NEUTRAL BAR - KHAKI

Assembly - Cabinet 
with standard base - Khaki

204056 CAB60 ASSEMBLY WITH PVC PANEL & 13-WAY NEUTRAL BAR 
(WITH REMOVABLE FRONT PANEL ON BASE) - KHAKI

Assembly - Cabinet with base 
& removable front panel - Khaki

204057 CAB60 ASSEMBLY WITH PVC PANEL & 
13-WAY NEUTRAL BAR - BLACK

Assembly - Cabinet 
with standard base - Black

204058 CAB60 ASSEMBLY WITH PVC PANEL & 13-WAY NEUTRAL BAR 
(WITH REMOVABLE FRONT PANEL ON BASE)  - BLACK

Assembly - Cabinet with base 
& removable front panel - Black

204061 CAB60 BODY ASSEMBLY - KHAKI Assembly - Cabinet assembly, 
no door - Khaki

204062 CAB60 BODY ASSEMBLY - BLACK Assembly - Cabinet assembly, 
no door - Black

204059 CAB60 DOOR ASSEMBLY - KHAKI Door including hinge and lock - Khaki

204060 CAB60 DOOR ASSEMBLY - BLACK Door including hinge and lock - Black



PRODUCT INFORMATION

www.gyroplastics.comPh: 06 323 2237	 E: sales@gyroplastics.com

2-DIMENSIONAL DRAWINGS

CAB60

4

6

5

7

2
3

11

10
9

8

1

2A

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 204023 E6000 BASE 1
2 119002 E6000-PANEL SHORT 1

2A 119001 E6000-PANEL LONG 1
3 105008 M10 x 45 SS Hex Bolt 4
4 105050 M10 x 21 SS Flat Washer 4
5 105053 M10 SS Spring Washer 4

6 105023 M10 304 Hex Nut 4
7 105006 M8 x 50 S/S Set Screw 2
8 501007 13 Way M12 Brass Neutral+SS N&W 1
9 105049 M8 x 16 x 1.2 304 SS Flat Washer 2

10 105052 M8 SS Spring Washer 2

11 105022 M8 304 Hex Nut 2
Version:

E6000ASSM-BASE
E6000 ASSY STD BASE

Material:

Colour:

Unless Otherwise Specified

1:10

21-Nov-17

SCALE: SHEET
 1 OF 3

The copyright in this 
document is vested in Gyro 
Plastics Ltd. The contents of 
this document may not be 
produced in whole or part 
without prior written 
consent of Gyro Plastics Ltd.

Part:

DEBUR AND BREAK 
SHARP EDGES

A3
1.0

Overall

Linear Tolerances:

Angular Tolerances:
Folded dimensions: 
Units: 

0       +/- 0.50 
0.0    +/- 0.25
0.00  +/- 0.10  
         +/- 0°30°

mm

Description:

IFDrawn by: Quantity:

Date:
Grade:

Checked:

4

6

5

7

2
3

11

10
9

8

1

2A

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 204023 E6000 BASE 1
2 119002 E6000-PANEL SHORT 1

2A 119001 E6000-PANEL LONG 1
3 105008 M10 x 45 SS Hex Bolt 4
4 105050 M10 x 21 SS Flat Washer 4
5 105053 M10 SS Spring Washer 4

6 105023 M10 304 Hex Nut 4
7 105006 M8 x 50 S/S Set Screw 2
8 501007 13 Way M12 Brass Neutral+SS N&W 1
9 105049 M8 x 16 x 1.2 304 SS Flat Washer 2

10 105052 M8 SS Spring Washer 2

11 105022 M8 304 Hex Nut 2
Version:

E6000ASSM-BASE
E6000 ASSY STD BASE

Material:

Colour:

Unless Otherwise Specified

1:10

21-Nov-17

SCALE: SHEET
 1 OF 3

The copyright in this 
document is vested in Gyro 
Plastics Ltd. The contents of 
this document may not be 
produced in whole or part 
without prior written 
consent of Gyro Plastics Ltd.

Part:

DEBUR AND BREAK 
SHARP EDGES

A3
1.0

Overall

Linear Tolerances:

Angular Tolerances:
Folded dimensions: 
Units: 

0       +/- 0.50 
0.0    +/- 0.25
0.00  +/- 0.10  
         +/- 0°30°

mm

Description:

IFDrawn by: Quantity:

Date:
Grade:

Checked:

6

8

7

9

4
5

13
12

11
10

2

31A

1

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 204023 E6000 BASE 1
2 204024 E6000 Joint Box 2
3 105036 M8 x 16 SS Button Socket Screw 8
4 119002 E6000-PANEL SHORT 1
5 105008 M10 x 45 SS Hex Bolt 4
6 105050 M10 x 21 SS Flat Washer 4
7 105053 M10 SS Spring Washer 4

8 105023 M10 304 Hex Nut 4
9 105006 M8 x 50 S/S Set Screw 2

10 501007 13 Way M12 Brass Neutral+SS N&W 1

11 105049 M8 x 16 x 1.2 304 SS Flat Washer 2
12 105052 M8 SS Spring Washer 2

13 105022 M8 304 Hex Nut 2
Version:

E6000ASSM-BASE
E6000 ASSY RMVBLE BASE

Material:

Colour:

Unless Otherwise Specified

1:10

21-Nov-17

SCALE: SHEET
 2 OF 3

The copyright in this 
document is vested in Gyro 
Plastics Ltd. The contents of 
this document may not be 
produced in whole or part 
without prior written 
consent of Gyro Plastics Ltd.

Part:

DEBUR AND BREAK 
SHARP EDGES

A3
1.0

Overall

Linear Tolerances:

Angular Tolerances:
Folded dimensions: 
Units: 

0       +/- 0.50 
0.0    +/- 0.25
0.00  +/- 0.10  
         +/- 0°30°

mm

Description:

IFDrawn by: Quantity:

Date:
Grade:

Checked:

6

8

7

9

4
5

13
12

11
10

2

31A

1

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 204023 E6000 BASE 1
2 204024 E6000 Joint Box 2
3 105036 M8 x 16 SS Button Socket Screw 8
4 119002 E6000-PANEL SHORT 1
5 105008 M10 x 45 SS Hex Bolt 4
6 105050 M10 x 21 SS Flat Washer 4
7 105053 M10 SS Spring Washer 4

8 105023 M10 304 Hex Nut 4
9 105006 M8 x 50 S/S Set Screw 2

10 501007 13 Way M12 Brass Neutral+SS N&W 1

11 105049 M8 x 16 x 1.2 304 SS Flat Washer 2
12 105052 M8 SS Spring Washer 2

13 105022 M8 304 Hex Nut 2
Version:

E6000ASSM-BASE
E6000 ASSY RMVBLE BASE

Material:

Colour:

Unless Otherwise Specified

1:10

21-Nov-17

SCALE: SHEET
 2 OF 3

The copyright in this 
document is vested in Gyro 
Plastics Ltd. The contents of 
this document may not be 
produced in whole or part 
without prior written 
consent of Gyro Plastics Ltd.

Part:

DEBUR AND BREAK 
SHARP EDGES

A3
1.0

Overall

Linear Tolerances:

Angular Tolerances:
Folded dimensions: 
Units: 

0       +/- 0.50 
0.0    +/- 0.25
0.00  +/- 0.10  
         +/- 0°30°

mm

Description:

IFDrawn by: Quantity:

Date:
Grade:

Checked:

 756 

 1
48

4 

 8
52

 

 643 
 741 

 5
55

 

A

A

 5
10

 
 3

89
 

 756 

 580 

 6
08

 

 756  300 

 8
52

 

 406 

 4
50

 
 1

03
3  6
08

 
 8

00
 

 9
00

 

 251 

 233 

 8
0 

SECTION A-AShown - Door Closed Shown - Door Open

MAXIMUM CAPACITY 6 WAY
VERTICAL DISCONNECTS

Notes:
Dimensions shown are in reference to the finished part. Refer to the 3D CAD file for all Dimension 
details. Unless otherwise stated typical R0.50mm is acceptable.
Part is to be free of any sharp edges, burrs, marks or surface imperfections and Protective wrap.

Version:
Material:

Colour:

Unless Otherwise Specified

1:15

08-Oct-21

SCALE: SHEET
 2 OF 2

The copyright in this 
document is vested in Gyro 
Plastics Ltd. The contents of 
this document may not be 
produced in whole or part 
without prior written 
consent of Gyro Plastics Ltd.

Part:

DEBUR AND BREAK 
SHARP EDGES

A3
1.0

Overall

Linear Tolerances:

Angular Tolerances:
Folded dimensions: 
Units: 

0       +/- 0.50 
0.0    +/- 0.25
0.00  +/- 0.10  
         +/- 0°30°

mm

Description:

Drawn by: Quantity:

Date:
Grade:

Checked:


